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#include<math.h>
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#include <stdio.h> 2 MNANEHE  EEZELER - REBERK
\ N £ \/—It , = / L D}L, ,
#include <math.h>/*5| FHEZ K T0*/ AHISHL - SR A A
. . ZEZENILETEHI00MF AR
int main(){
= >T< RN A , 7_\% O kN \
% 26" sart(900.0) 900 0 sqart) L4518 - AT
return O} PRTVRIS B IR R 8 - SRS EEST

MR c1=14.0,d=2.0, f=4.0/95% :
prntf( “%.2f" ,sqrt(cl+d*f))
o] IETEWHEIH14.0+2.0+4.009FH 1R

&% =E5.00
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include <math.h>

5| AR EO{FRIREE 2double - doubleEifloatEL BRIV E
S8 - ol DUE _%If(long float) ¥ 12 15 & 5ol & 1




sqrt( x ) sgrt( 900.0 ) dis 30.0
square root of x sart¢ 9.0) 3s'3.0
exp( x ) . . exp( 1.0 ) 1is 2.718282
exponential function e* expC 2.0 5 is 7.389056
Tog(C x ) . log( 2.718282 ) is 1.0
181;1tural logarithm of x (base 1og¢ 7.389056 5 12 2.0
ToglOo(C x D . Togl0C 1.0 ) 1is 0.0
logarithm of x (base 10) 10910¢ 10.0°) 3s 1.0
Togl0C 100.0 ) 1is 2.0
fabs( x ) fabs( 5.0 ) is 5.0
absolute value of x fabeC 003 12 0.0
fabs( -5.0 ) 1is 5.0
ceil( x ) ceil( 9.2 ) 4is 10.0
%'oundsxto the smallest ceilC -9°87y'3s 5.0
integer not less than x
floor( x ) floor( 9.2 ) 14is 9.0
%'oundsxto the largest floor¢ -9-.87Y 3s ~10.0
integer not greater than x
pow( x, y ) : v pow(C 2, 7 ) 1is 128.0
x raised to power y () PowC 07 '573'3s350
fmod( x, y ) remainder of x/y as a {mggg 13.657, 2.333 ) 1is
floating point number ’
sinC x ) trigonometric sine of x sinC 0.0 ) is 0.0
(x 1n radians)
cos( x ) trigonometric cosine of x [c€0sC 0.0 ) dis 1.0
(x 1n radians)
tanC x ) trigonometric tangent of x [tanC 0.0 ) 1is 0.0
(x 1n radians)
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I 2B E X pow

#include <cstdio>
#include <math.h>

int main()

{ ENUEZ
double x,y; I iUpow
scanf("%lIf",&x); REXHYR I
while(x!=0){

scanf("%lIf",&y); O

printf("%d\n",(int)pow(x,y)); ©
scanf("%lIf",&x);
}

return O;



#include <stdio..h> K g I]LI %E_ % ,
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int x,y,t,count;
scanf("%d",&x);

while(x!=0){
scanf("%d",&y);
t=1; s s
count=1; JEJ5-%H3POWE/‘J
while(count<=y){ FH1E [ NEI
t=t*x;
count=count+1; .
} O
printf("%d\n",t); o
scanf("%d",&x);
}
return O;

}
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int main()

{
double x,y;
scanf("%If",&x); ERBBER
while(x!=0){ 7 %5 SR

double#int

scanf("%lIf",&y);
printf("%d\n",(int)pow(x,y)); e ®
scanf("%lIf",&x);

}

return O;



